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i) Rightindicates full marks.

ii) All questions are compulsory.

Solve any 2 : i
Find the solution.ofR.R. if

@n =8an.1* 26,59 + 24,,.5

with initial condition

@=0 a;=1 & a;=10 ‘
 Find the solution of Non-homogenous R.R.

ifa,, = an-1° 16an.2 + 12¢m-3 + n(4)"
Using G.F. find solution of R.R.
.a,, =2, 1+3,.1forn2>22

witha,=2

Solve any 2 :
Prove that (A, R) is a posetthen
prove that (A, R7) is also poset) |
IfR=((1,1)(1,2) (1,4 (2 1) (2 2),(2,4)
(2,8 (3,3 (3,2 (3,6 41)
(4,2) (4,3) (4, 4 (4, 5) (5, 2)
(5, 3) (5, 5))

&S= {(1,1)(1,4)(1,5)(22) (23 G 1)

(3,2)(3,5) (4, 1) (4,3) (4, 4)
(5, 1) (5, 2) (5,3) (5, 4) (5, 5)}
Find MR, MS In deg of R& S out deg of R & S
- ' ‘ 1 .1 c -
Mpus Mans B8,
M, R,;S)C Draw Hasse's dipraph of R.
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Use Warshall's Algorithm to compute the transitive closure. If

[1

S N OO N O
S O M~

S oo o

S o N~ o
NN O O N

S o
| T

woualditiou Lly el ouvaliiivi

(P.T.0.)



v
PR -—am_a%\\
Wl T ‘ LDy
VCD-11092012 S.Y.IT. . (2) .‘ , . P
Q.3. Solve any 2 : s ' .
' a o coe i bijectve
1) P.T.iffunctionF;A - B is inverﬁbl‘f iffF
2 @& PT.fige=fit fa=201 T3 ¢
» PT. f(x)=_§i;{% igbijectivef" . ¥
3) Findfollowing vdlue .
,f(a)=a.'1 & g®) =Y
) (e W : ¥ 0
9 i) Eho ' : |
i) ‘P
) (ﬁ’g)(x) i . N 1 °
y .St te the pigeonhole principal with suitable examp | |
S [19 ‘I
Q.4 Solve any 2 : : ‘ | !
) a Coﬂsgrithlgebric structure & also find the value. | - §
| _'(3—(’2—(11—'(g—4))))+(2+(3+<4+7») -
b Drawplannergraph. A '
£ } 5 p
@ b . ¢ | d C ' .
' d £ l
.. : ) ; o i
: d : € : F ko 9 :
2) .a)‘ S,/wiblvthatgiven'graph is an Isomorphic graph.
| 45 .
i/ 43
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b) Check Siven are
graph
e Euler's graph circuit and path. Smularly Hamdton graph and

Find the value of minimal spanning
@ tree by using prims Algorithm.

b Draw all possible spanning tree.
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Solve any 2 : [10]
i) State and prove: Addition pnnczple.
i) Solve wlth the help of Truth table
IfA, B & Cc be three set then prove that
Ax(BuC) =(AxB) u\(A._xC}) ]
Solve with the help of Mathematical Induction.
A I1+2+3+ et = n(n; 1) _ e
Solve any 2 : ' R : [10]
P.T. a+bJ2 i80a 8TOUD: : '
P.T..ﬂ’e) =el if(S,*) & (T ') bea monoid wzth tdentzty e&e 1fF S » Tbean
isomorphism. ' . -
. P.T. Every Field isan integral domain a_md converse U is riot true also P T. every cyclic
* group is an abalian gToup. " im
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